S T [ .
s ‘ ’ tan WHERE MONEY COMES FROM.™
A DOVER )

NMD-50 to TDM-200
F1ELD CONVERSION PROCEDURES

(MobpeL RL5000 ATM)

TDN 07103-00167  04/2007

CORPORATE HEADQUARTERS: RMA (RETURN MATERIAL AUTHORIZATION)
RETURN ADDRESS:

522 E. Railroad Street 21405 Avenue “B”

Long Beach, MS 39560 Long Beach, MS 39560

Phone: (228) 868-1317
Fax: (228) 868-0437

COPYRIGHT NOTICE
© 2007 Delaware Capital Formation, Inc. All Rights Reserved. Triton Systems of Delaware, Inc. is an operating
company of Dover Electronics, Inc., a subsidiary of Dover Corporation (NYSE-DOV). DOVER, the DOVER
logo and the family of marks and TRITON, the TRITON logo and the Triton family of marks are registered
trademarks of Delaware Capital Formation, Inc., a wholly owned subsidiary of Dover Corporation.




NMD-50 o TDM-200 CoNVERSION PROCEDURES

PURPOSE

This guide covers the steps for replacing an NMD-50 in the Model RL5000 ATM with a TDM-200. This procedure includes a list of
all tools and hardware necessary for the conversion as well as the steps involved.

ScorE

This procedure applies to all service personnel involved in the process of maintaining or converting Triton ATMs.

APPLICATION

This conversion kit applies to RL5000 cabinets that have a “Lift” handle for the vault door. If your unit has a “T-Handle” for the vault
door, you can not perform this conversion.

REQUIRED PARTS AND TOOLS

TOOLS REQUIRED
Phillips Screwdriver
11/32" (9mm) and 7/16" (11 mm) Nut Driver
NMD-50 to TDM-200 CONVERSION KIT
(P/N 06200-00165)
PARTS SUPPLIED
PART NUMBER DESCRIPTION QUANTITY
09015-01200 TDM-200 (w/Note and Reject Cassettes) 1
09120-00144 Cable Harness (Power,Data, Ground) 1
03015-00165 TDM Inverse Tray Assy (w/pivot handle) 1
03011-01811 TDM-200 Tray Assy Extension 1
03011-01495 Bracket, Slide Mount, Left 1
03011-01496 Bracket, Slide Mount, Right 1
03082-00005 Slide Assy, Locking (Right) 1
03082-00013 Slide Assy, Non-Locking (Left) 1
102054-00164 Screw, Pan Head, #6-32 x 1/4" (w/ext tooth washer) 6
202054-00168 Screw, Truss Head, #8-32 x 3/8" 6
302301-00024 Hex Nut, #8-32, (w/ext tooth washer) 12
402301-00041 Kep Nut, 1/4-20 2
03072-00015 Ty Wrap, 6" 3
03011-00662 Bracket, Anti-crash (Bumper) 1
02314-00113 Foot, Push-on (Bumper) 1
01030-00010 Ferrite 1
07100-00022 Model RL5000 Quick Reference Card (TDM-100/150) 1
07103-00167 NMD-50 to TDM-200 Conversion Procedures (RL5000) 1
1 (4) -mounting TDM, (2) - tray extension
2 (6) - slide assemblies
3 (4) - slide mount brackets, (6)- tray assembly, (2) - power supply
4 (1) - anti-crash bumper, (1) - cable harness ground

J [ J
& Triton.
WHERE MONEY COMES FROM.™

ATEOMER) o



NMD-50 o TDM-200 CoNVERSION PROCEDURES

DisASSEMBLY PROCEDURES

Before proceeding, follow these steps to remove power from the ATM:

Enter Management Functions > System Parameters > Shut Down the Terminal. When prompted, turn power OFF on the ATMs
power supply. Unlock and open the ATM control panel. Turn the power switch to the OFF (0) position. If possible, unplug the ATM
power cord at the wall outlet.

ReEmMovE NMD-50 DISPENSER

StEP 1 DisconnecT NMD-50 CcABLES

S Open the cabinet vault door. Extend the NMD-50 fully on its slide rails.

S Disconnect the power, data, and ground cables from the mechanism.

Gnd cable

STEP 2 REMOVE DISPENSER (2 PERSONNEL RECOMMENDED)

S Push the release tabs on each slide rail and slide the mechanism out slightly.

< Continue sliding mechanism out from slide rails and remove from cabinet.

Release tab

[ [y [/ po—



NMD-50 o TDM-200 CoNVERSION PROCEDURES

StEP 3 REMOVE SLIDE RAILS
< Using a phillips screwdriver, remove the screw shown.

< Rotate the latch shown (below) and slide the rail inward until you locate the other two (2) screws.

S Remove these two (2) screws shown below. Remove the slide rail and repeat on the other side.

StEP 4 REMOVE BRACKETS

S Using the 11/32” (9mm) nutdriver, remove the nut shown and disconnect the ground wires (the ground wire for the NMD-50 can
be removed from the cabinet).

S Remove the other two (2) nuts that secure the rail bracket. Remove the bracket and repeat on the other side.

STEP S ReEMoVE EJ ASSEMBLY

S Open the control panel and disconnect all the cables from the power supply. Next, disconnect the data cable from the port
marked “DISPENSER” on the Docking board.

< Using the 7/16” (11mm) nutdriver, remove the two (2) nuts that secure the EJ bracket. Remove the EJ assembly (w/cables).

~ Dispenser
| port

[ L]/ E—



NMD-50 o TDM-200 CoNVERSION PROCEDURES

STEP 6 REMOVE / MopIiFy POWER SuPPLY

S Open the control panel. Remove the dispenser power cable from the cabinet.

< Liftthe control panel slightly. Using an 11/32" (9 mm) nut driver, loosen the two (2)
nuts that secure the power supply to the cabinet. Slide the power supply towards
the rear of the cabinet and remove from the unit.

S Place the power supply on a flat surface as shown. Disconnect (both ends) and remove the DC cable shown. Next, disconnect
the AC connector shown. Move cable end over to existing cable shown (see insert) and secure with ty wrap.

? connector
o] ,( ) I N\ AN P

INSTALL UPGRADE KiIT ASSEMBLIES

StEP 1 InstTaLL TDM CaBLE HARNESS / POWER SUPPLY

S Feed the TDM cable harness down to the vault area through the cable access hole.
S Usinga 7/16" (11 mm) nut driver, secure the ground wire to the threaded screw shown with Kep nut provided.

< Install the power supply under the two (2) nuts previously loosened and secure nuts. Note: Remember to reconnect any
ground wires that were removed previously.




NMD-50 o TDM-200 CoNVERSION PROCEDURES

StEP2 INSTALL SLIDE RAIL MOUNTING HARDWARE (SECURITY VAULT AREA)

< Install one (1) nut provided on the MIDDLE mounting bolts located on the LOWER row of bolts.

Locate the two (2) mounting brackets in kit. There is a Left and Right specific. Mount the bracket by first starting backslot on
the middle bolt and rotate down over the front bolt (closest to door).

=)
S (Left side) Reconnect the cabinet ground connector (from vault door) to this front bolt.
=)

Install nuts on the front bolts and secure all.

** IMPORTANT ** |
Ensure middle bolt is fully seated " Ground wire

in the backslot. Brackets must i connects here
be level when installed! '

StEP 3 INSTALL SLIDE RAIL ASSEMBLIES

S There are two (2) different slide rails: Locking (mounted on right side - black latch) and Non-locking (mounted on left side).
< Slide the rail(s) out fully. Align the three (3) holes pictures to the mounting bracket.

S Secure slide rail(s) using three (3) truss head phillips screws to the bracket.

[ L]/ E—



NMD-50 o TDM-200 CoNVERSION PROCEDURES

StEP 4 INSTALL SLIDE TRAY

< Extend the slide rails fully. There are three (3) screws protruding from each side shown. The slide tray mounts on these screws.

S With the tray orientated as shown, align the slide tray slots with the slide rail screws and secure with the hex nuts provided.
Ensure tray is fully seated on rail screws.

STEP S INsTALL TDM-200

< Pull the release pin (under tray) and rotate the turntable 180° clockwise. Release pin and lock turntable in place. This is the
“Service” position (cassettes will be facing when installed).

S Remove the note and reject cassettes from the dispenser. Mount the dispenser on the turntable. Align the screw holes on the
dispenser bottom frame with the four (4) threaded holes on the turntable. Install the pan-head phillips screws w/tooth washers
and secure the dispenser to the turntable.

Turntable in “Service”position

0

4

T8

»

Lo

\

O
By
X

[ [y [/ po—



NMD-50 o TDM-200 CoNVERSION PROCEDURES

STEP 6 INsTALL TRAY EXTENSION / TRAY BUMPER

<> Install the tray extension and secure with two (2) pan head screws provided.

< On the cabinet door, mount the anti-crash bracket (bumper) on the lower bolt and secure with a Kep nut. Next, install the black
foot pad in the bracket.

StEP 7 ConNECcT TDM CABLES / FERRITE
< Route the dispenser cable harness through the snap cable clips.

2 Route the dispenser power and data cables through the ty-wrap located near the dispenser main board and connect cables to the
dispenser. Secure this ty-wrap. Connect the ground wire shown and secure the cable harness to the dispenser with a ty-wrap.

S Open the ferrite and enclose the power and data cables as shown.

Ferrite

[ L]/ E—



NMD-50 o TDM-200 CoNVERSION PROCEDURES

STEP 8 INSTALL CASSETTES / ROTATE MECHANISM

S Reinstall the cassettes. Pull the release pin (under tray) and rotate the turntable 180° counterclockwise. Release pin and lock
turntable in place. This is the “Operate” position (cassettes towards rear). Slide the mechanism back into the cabinet.

** Caution **
When rotating the turntable AND/OR sliding the dispensing
mechanism into the cabinet, check to ensure the cables are not
stressed or binding on the dispenser before closing the cabinet door.

STEP 9 CoNNECT POWER / DATA CABLES (CONTROL PANEL)
S Route the dispenser data cable to the Docking board assembly and connect to the port marked “DISPENSER”.

S Reconnect all power cables (AC/DC) to the power supply.

[ [y [/ po—




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.2
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /UseDeviceIndependentColor
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages false
  /ColorImageDownsampleType /Average
  /ColorImageResolution 2400
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.55542
  /EncodeColorImages false
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages false
  /GrayImageDownsampleType /Average
  /GrayImageResolution 2400
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.55542
  /EncodeGrayImages false
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages false
  /MonoImageDownsampleType /Average
  /MonoImageResolution 2400
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.55542
  /EncodeMonoImages false
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


